[ Efficiency vs vertpos |

- 0.1
20.09
2
20.08
(&)
50.07
O
£0.06
0.05
0.04
0.03
0.02
0.0

1072

Efficienq —— %g

N 0.2
00.18F
n C
>0.16
>

8 C
$0.14F
(&) L
£0.12
[J]

0.1
0.08F
0.06[
0.04F
0.02F

...........

...........

...........

..............

............

...............

...............

...............

...............

T

[ Efficiency vs. sim PV z |

10 20 30

P vert z (cm)

~ 0.2
>
0.0.18F
= E
Eo1se
>0 14F
co 12F
0.1F
0.08F
0.06F
0.04F

0.02F

efficienc

O_

Ratio

15

Si

m. PV z (cm)

OTT ttoar=piT fmewgeonT
R emprale ar-p, eom
I—RIXE el are | uar ase -newgeom
I—_P1Xe el ateCurtni uar = asejl-newgeom
piIXe e ateCutCniaguar S e ase -newgeom
I—piXel e atecutCnisgquar asel-newgeom




	Contents
	Page 1


